Let’s work through some examples together...
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Applying this to the periodic table... I Z"' 3‘: '{5 3” L e

Li | Be B F | Ne

wafaeie sy -..m e n-n sraeny neAt

e 1 12 1] " 15 1 17 18
Na | Mg vius Mlsi|r]s|ala

L Ps«v- wo | i wR VR vin VIR e 1 IR |roume] mun nema) vied | nie | 0w
TR ER R E R PR R R

K [ Ca| & | T V |G |[Mn| Fe | Co i Zn | Ga| Ge | As | Se | Br | Kr

ey | e |summne] eae | iy | womt Jrsvmn] suan |amool s o | won | i fuzve| ne | e | o

R N N A R FEER NN

Rb | S| ¥ | 2r | Nb| Mo | Tc [ Ru [ Rh Cd | In | Sn Te Xe

(} s | on fanmass | ion Jeaes ] i | o) | et feses) pian | mos | oune | e | e Jeewn) s

l ss | s | |2 | o] o] PRI ERE R
Cs | Ba [La* | HE | Ta [ W | Re [ Os | Ir Hg | T | Pb | Bi | Po | At Rn

amsit] 1z [ newn | 1ne wsed| ann | ot | e | pzie rasiatt| snss foisos| ser |swawae] gei | mn | cn

sz | oax | me | 1o | tes | 1ee | 107 | os | 109 12 L":: ne 18
Fr | Ra |Aces| RO Db [ Sg | Bo | 1 | A Uab Uug Uuh Uuo
P S N O O N T Gt | ) Lem | )
- 5 5 a2 & Ll 67
I Lunthande) l b | Nd Il‘ml Sm | Eu Dy llu ITm | J
" RO S k] 17 | e ol h2fe | mares] 15)‘ uen| s | coe
++ Actinid ad 123 a3 o 55 % 7 “ L4 102 103
e In. l | U | Np | pufam]|cm| BR] <t r... Md | No [ Le
siom |snas|van | b | e | | i | e | e 5 n | wm | oo

(s



